Subject: dealing with arguments
Posted by fgg on Wed, 02 Jun 2010 21:59:47 GMT

View Forum Message <> Reply to Message

Hello,
In this call:
proname, mode, s1, s2

sl is necessary if mode=1; s2 is necessary if mode=2; and both s1 and
s2 are necessary if mode=3.

If mode=1, s2 can be simply omitted, but if mode=2 then the user would
still need to provide a s1, even though it will not be used, just

because 3 numbers are needed in the calling sequence in order to
define s2. Is there a way to avoid entering s1 when mode=2 while still
making IDL understands that the second number in the call refers to
s27? | hope this makes sense. Thank you!
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